
LE H + G Rn

EvgTr ⇒ crops

[n = 13416, A = 33.101]

DecTr ⇒ crops

[n = 27879, A = 14.732]

DecTr ⇒ shrub

[n = 10888, A = 11.844]

Shrub ⇒ crops

[n = 25846, A = 10.629]

Grass ⇒ crops

[n = 36610, A = 9.423]

NedTr ⇒ shrub

[n = 19706, A = 7.818]

EvgTr ⇒ shrub

[n = 6545, A = 5.498]

NedTr ⇒ crops

[n = 17115, A = 5.21]

NedTr ⇒ grass

[n = 15871, A = 2.827]

Grass ⇒ DecTr

[n = 12444, A = 2.579]

Shrub ⇒ grass

[n = 23727, A = 1.427]

EvgTr ⇒ grass

[n = 3700, A = 1.144]

NedTr ⇒ DecTr

[n = 17792, A = 0.61]

DecTr ⇒ EvgTr

[n = 4512, A = 0.466]

NedTr ⇒ EvgTr

[n = 915, A = 0.042]
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Agreement across the entire dataset


